

Election Summary Report

Closed Primary

Decatur

May 21, 2024

Summary for: All Contests, All Districts, All Tabulators, All Counting Groups
 May 21, 2024 General Primary/Non-Partisan Election

Electo Group	Counting Group	Ballots	Voters	Registered Voters	Turnout
Total	Election Day	1,504	1,504	16,107	9.34%
	Advance Voting	790	790		4.90%
	Absentee by Mail	102	102		0.63%
	Provisional	0	0		0.00%
	Total	2,396	2,396		14.88%

Precincts Reported: 10 of 10 (100.00%)

Registered Voters: 2,396 of 16,107 (14.88%)

Ballots Cast: 2,396

US House of Representatives - District 2 - Rep (Vote for 1) REP

Precincts Reported: 10 of 10 (100.00%)

Total		
Times Cast	1,634 / 16,107	10.14%

Candidate	Party	Total
Chuck Hand		382
A. Wayne Johnson		715
Regina 'Reggie' Liparoto		58
Michael Nixon		190
Total Votes		1,345

Total		
Unresolved Write-In	0	

US House of Representatives - District 2 - Dem (Vote for 1) DEM

Precincts Reported: 10 of 10 (100.00%)

Total		
Times Cast	719 / 16,107	4.46%

Candidate	Party	Total
Sanford Bishop (I)		658
Total Votes		658

Total		
Unresolved Write-In	0	

State Senate - District 11 - Rep (Vote for 1) REP

Precincts Reported: 10 of 10 (100.00%)

Total		
Times Cast	1,634 / 16,107	10.14%
Candidate	Party	Total
Sam Watson (I)		1,291
Total Votes		1,291
Total		
Unresolved Write-In	0	

State House of Representatives - District 171 - Rep (Vote for 1) REP

Precincts Reported: 10 of 10 (100.00%)

Total		
Times Cast	1,634 / 16,107	10.14%
Candidate	Party	Total
Joe Campbell (I)		968
Crosby Steen		636
Total Votes		1,604
Total		
Unresolved Write-In	0	

District Attorney - South Georgia Judicial Circuit - Rep (Vote for 1) REP

Precincts Reported: 10 of 10 (100.00%)

Total		
Times Cast	1,634 / 16,107	10.14%
Candidate	Party	Total
Joe Mulholland (I)		1,267
Total Votes		1,267
Total		
Unresolved Write-In	0	

Sheriff - Rep (Vote for 1) REP

Precincts Reported: 10 of 10 (100.00%)

Total		
Times Cast	1,634 / 16,107	10.14%
Candidate	Party	Total
John William Kirkus		1,008
Total Votes		1,008
Total		
Unresolved Write-In	0	

County Commission - District 2 - Rep (Vote for 1) REP

Precincts Reported: 4 of 4 (100.00%)

Total		
Times Cast	520 / 3,089	16.83%
Candidate	Party	Total
Steve Brock (I)		292
Doug Griffin		219
Total Votes		511
Total		
Unresolved Write-In	0	

County Commission - District 2 - Dem (Vote for 1) DEM

Precincts Reported: 4 of 4 (100.00%)

Total		
Times Cast	95 / 3,089	3.08%
Candidate	Party	Total
Stephanie Harity		77
Total Votes		77
Total		
Unresolved Write-In	0	

County Commission - District 3 - Dem (Vote for 1) DEM

Precincts Reported: 2 of 2 (100.00%)

Total		
Times Cast	158 / 2,423	6.52%
Candidate	Party	Total
Dennis Brinson (I)		150
Total Votes		150
Total		
Unresolved Write-In	0	

County Commission - District 5 - Rep (Vote for 1) REP

Precincts Reported: 5 of 5 (100.00%)

Total		
Times Cast	350 / 2,755	12.70%
Candidate	Party	Total
Bobby Barber, Jr. (I)		221
Jason E. Williams		120
Total Votes		341
Total		
Unresolved Write-In	0	

Party Question 1 - Rep (Vote for 1) REP

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		1,634 / 16,107	10.14%
Candidate	Party	Total	
Yes		1,003	
No		561	
Total Votes		1,564	
		Total	
Unresolved Write-In		0	

Party Question 2 - Rep (Vote for 1) REP

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		1,634 / 16,107	10.14%
Candidate	Party	Total	
Yes		858	
No		632	
Total Votes		1,490	
		Total	
Unresolved Write-In		0	

Party Question 3 - Rep (Vote for 1) REP

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		1,634 / 16,107	10.14%
Candidate	Party	Total	
Yes		1,400	
No		143	
Total Votes		1,543	
		Total	
Unresolved Write-In		0	

Party Question 4 - Rep (Vote for 1) REP

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		1,634 / 16,107	10.14%
Candidate	Party	Total	
Yes		943	
No		603	
Total Votes		1,546	
		Total	
Unresolved Write-In		0	

Party Question 5 - Rep (Vote for 1) REP

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		1,634 / 16,107	10.14%
Candidate	Party	Total	
Yes		1,338	
No		238	
Total Votes		1,576	
		Total	
Unresolved Write-In		0	

Party Question 6 - Rep (Vote for 1) REP

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		1,634 / 16,107	10.14%
Candidate	Party	Total	
Yes		1,291	
No		274	
Total Votes		1,565	
		Total	
Unresolved Write-In		0	

Party Question 7 - Rep (Vote for 1) REP

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		1,634 / 16,107	10.14%
Candidate	Party	Total	
Yes		1,263	
No		291	
Total Votes		1,554	
		Total	
Unresolved Write-In		0	

Party Question 8 - Rep (Vote for 1) REP

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		1,634 / 16,107	10.14%
Candidate	Party	Total	
Yes		87	
No		1,465	
Total Votes		1,552	
		Total	
Unresolved Write-In		0	

Party Question 1 - Dem (Vote for 1) DEM

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		719 / 16,107	4.46%
Candidate	Party	Total	
Yes		647	
No		57	
Total Votes		704	
		Total	
Unresolved Write-In		0	

Party Question 2 - Dem (Vote for 1) DEM

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		719 / 16,107	4.46%

Candidate	Party	Total	
Yes		645	
No		53	
Total Votes		698	

		Total	
Unresolved Write-In		0	

Party Question 3 - Dem (Vote for 1) DEM

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		719 / 16,107	4.46%

Candidate	Party	Total	
Yes		612	
No		92	
Total Votes		704	

		Total	
Unresolved Write-In		0	

Party Question 4 - Dem (Vote for 1) DEM

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		719 / 16,107	4.46%

Candidate	Party	Total	
Yes		586	
No		102	
Total Votes		688	

		Total	
Unresolved Write-In		0	

Party Question 5 - Dem (Vote for 1) DEM

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		719 / 16,107	4.46%
Candidate	Party	Total	
Yes		587	
No		117	
Total Votes		704	
		Total	
Unresolved Write-In		0	

Party Question 6 - Dem (Vote for 1) DEM

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		719 / 16,107	4.46%
Candidate	Party	Total	
Yes		672	
No		32	
Total Votes		704	
		Total	
Unresolved Write-In		0	

Party Question 7 - Dem (Vote for 1) DEM

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		719 / 16,107	4.46%
Candidate	Party	Total	
Yes		531	
No		151	
Total Votes		682	
		Total	
Unresolved Write-In		0	

Party Question 8 - Dem (Vote for 1) DEM

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		719 / 16,107	4.46%
Candidate	Party	Total	
Yes		658	
No		40	
Total Votes		698	
		Total	
Unresolved Write-In		0	

Judge - Supreme Court (Boggs) (Vote for 1)

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,396 / 16,107	14.88%
Candidate	Party	Total	
Michael P. Boggs (I)		1,882	
Total Votes		1,882	
		Total	
Unresolved Write-In		29	

Judge - Supreme Court (Ellington) (Vote for 1)

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,396 / 16,107	14.88%
Candidate	Party	Total	
John J. Ellington (I)		1,881	
Total Votes		1,881	
		Total	
Unresolved Write-In		26	

Judge - Supreme Court (Peterson) (Vote for 1)

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,396 / 16,107	14.88%
Candidate	Party	Total	
Nels Peterson (I)		1,871	
Total Votes		1,871	
		Total	
Unresolved Write-In		15	

Judge - Supreme Court (Pinson) (Vote for 1)

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,396 / 16,107	14.88%
Candidate	Party	Total	
John Barrow		895	
Andrew Pinson (I)		1,176	
Total Votes		2,071	
		Total	
Unresolved Write-In		7	

Judge - Court of Appeals (Dillard) (Vote for 1)

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,396 / 16,107	14.88%
Candidate	Party	Total	
Stephen Dillard (I)		1,866	
Total Votes		1,866	
		Total	
Unresolved Write-In		14	

Judge - Court of Appeals (Hodges) (Vote for 1)

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,396 / 16,107	14.88%
Candidate	Party	Total	
Ken Hodges (I)		1,883	
Total Votes		1,883	
		Total	
Unresolved Write-In		16	

Judge - Court of Appeals (Land) (Vote for 1)

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,396 / 16,107	14.88%
Candidate	Party	Total	
Ben Land (I)		1,858	
Total Votes		1,858	
		Total	
Unresolved Write-In		12	

Judge - Court of Appeals (Mercier) (Vote for 1)

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,396 / 16,107	14.88%
Candidate	Party	Total	
Amanda H. Mercier (I)		1,851	
Total Votes		1,851	
		Total	
Unresolved Write-In		11	

Judge - Court of Appeals (Miller) (Vote for 1)

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,396 / 16,107	14.88%
Candidate	Party	Total	
Jeff Davis		1,230	
Tabitha Ponder		741	
Total Votes		1,971	
		Total	
Unresolved Write-In		9	

Judge - Court of Appeals (Rickman) (Vote for 1)

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,396 / 16,107	14.88%
Candidate	Party	Total	
Brian M. Rickman (I)		1,848	
Total Votes		1,848	
		Total	
Unresolved Write-In		9	

Judge - Court of Appeals (Watkins) (Vote for 1)

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,396 / 16,107	14.88%
Candidate	Party	Total	
Jeffrey A. Watkins (I)		1,848	
Total Votes		1,848	
		Total	
Unresolved Write-In		14	

Judge - Superior Court - South Georgia Judicial Circuit (Chason) (Vote for 1)

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,396 / 16,107	14.88%
Candidate	Party	Total	
Margaret Claire Chason (I)		1,902	
Total Votes		1,902	
		Total	
Unresolved Write-In		12	

Judge - Superior Court - South Georgia Judicial Circuit (Heard, Jr.) (Vote for 1)

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,396 / 16,107	14.88%
Candidate	Party	Total	
Lawton Chad Heard, Jr. (I)		1,884	
Total Votes		1,884	
		Total	
Unresolved Write-In		10	

Judge - Superior Court - South Georgia Judicial Circuit (Lanier) (Vote for 1)

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,396 / 16,107	14.88%
Candidate	Party	Total	
Heather Hendricks Lanier (I)		1,922	
Total Votes		1,922	
		Total	
Unresolved Write-In		15	

State Court Judge (Vote for 1)

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,396 / 16,107	14.88%
Candidate	Party	Total	
David A. Kendrick (I)		2,000	
Total Votes		2,000	
		Total	
Unresolved Write-In		9	

Probate Court Judge (Vote for 1)

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,396 / 16,107	14.88%
Candidate	Party	Total	
Eric L. Gay (I)		1,964	
Total Votes		1,964	
		Total	
Unresolved Write-In		29	

Magistrate Court Judge (Vote for 1)

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,396 / 16,107	14.88%
Candidate	Party	Total	
Ann Marie Rose-Emmons (I)		1,914	
Total Votes		1,914	
		Total	
Unresolved Write-In		19	

Board of Education - District 1 (Vote for 1)

Precincts Reported: 3 of 3 (100.00%)

		Total	
Times Cast		355 / 2,802	12.67%
Candidate	Party	Total	
Kelvin K. Bouie, Sr. (I)		301	
Total Votes		301	
		Total	
Unresolved Write-In		10	

Board of Education - District 3 (Vote for 1)

Precincts Reported: 2 of 2 (100.00%)

		Total	
Times Cast		277 / 2,423	11.43%
Candidate	Party	Total	
Winston M. Rollins (I)		237	
Total Votes		237	
		Total	
Unresolved Write-In		3	

Board of Education - District 5 (Vote for 1)

Precincts Reported: 5 of 5 (100.00%)

		Total	
Times Cast		463 / 2,755	16.81%

Candidate	Party	Total	
Courtney Chavers		179	
Brandon Conley (I)		256	
Total Votes		435	

		Total	
Unresolved Write-In		0	